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1. Problema 1

El siguiente es un programa en assembler x86. Escriba el programa equiva-

lente en C.

.glabl Q # =i kebxs=%esi goto _L10

Q: cmpl ¥esi, %ebx
pushl %ebp jge L10
mow 1l Yesp, %abp LA
;.'lu.rh,] Yeni ¥ wi (Yedl, btebx.4)>=0 goto .LE
pushl %ebx cmpl 20, (tedi,%ebx,4)
mowl B (%¥ebp), tedx # ler. parametro in= .L&
mowl 12{%ebp), %¥ecx # 2do. pardametroc addl 21, %ebx
mowl 16{¥ebp), %ebx # 3er. parametro Jmp L3
mowl (tedx, ¥ecx, 4), %Yesi LLE:
mow 1 (badx, ¥ebx, 4) , Teax subl 24, Wesp
mowv 1l Yeax, (Yedx,Vecx,4] pushl feni # 3er. arg
mewl teai, (%Yedx, vebx,4) pushl %ebx ¥ 2do. arg
popl Yebx pushl %edi # ler. arg
popl Yeai call Q
popl Yebp subl 21, %esi
ret addl 216, tesp
.globl P L3

P ¥ mi Yebx<tesi goto .LB
pushl %ebp emp 1 tesi, %ebx
mowvl Yesap, ¥ebp il L&
pushl %edi -L10:
pushl %esi mowl ¥ebx, %eax # wvalor de ret.
pushl Yebx leal -12(%=bp), %esp # %esp= %ebp-12
subl 212, tesp popl Febx
mowvl B (¥ebp), kedi popl Resi
mowl 12 (¥ebp), %ebx popl wedi
mowl 16 (Yebp) , %esi popl ¥ebp

ret




